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A STRATEGY —to make it even easier!
Look at the equation in problem 1: > X + y = -6
If x equals zero, place your finger over x and see what y equals! @ y = -6 (0, )
If y equals zero, place your finger over y to see what x equals! X @ = -6 ( ,0)

Now you have two points, (0, -6) and (-6, 0). Graph and connect them to see the line they create.

You can use this method even if x or y is multiplied by a number... because any number times zero equals ZERO! That’s

what the finger tips in problem 2 above are showing!



